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SOCIOLOGY AWIdIY
Paper - II1 ;\{\{Q'III |

NOTE: This paper contains four sections. You are required to attempt all of
them.

MR L WML 2R Reusll . R otat Reusiisi n2lsu ol unasw 3.

SECTION -I

Note : Read the following paragraph and answer Questions (1 - 5) given below
in 30 words each. Attempt ALL the questions. [Marks:5 x 5 = 25]

Al DR AReny Al AR 226 WAL (L L WAL oL 30 ABERL L. S
WSl VAL DU,

"Owing to the exentsive line of machinery and to division of labour, the work
of the proletarians has lost all individual character, and consequently, all charm for
the woman. He becomes an appendage to the machine and it is only the most simple,
most monotonous and most easily acquired knack that is required of him. Hence,
the cost of production of a workman is restricted, almost entirely to the means of
subsistence that he requires for his maintenance and for the propagation of his race.
But the price of a commodity, and also of labour is equal to its cost of production. In
proportion, therefore, as the repulsiveness of the work increases, the wage decreases.
Nay more, in proportion as the use of machinery and division of labour increases, in
the same proportion the burden of toil also increases, whether by prolongation of the
working hours, by increase of the work enacted in a given time, or by increased speed
of the machinery, etc".

sl aed AU AL A, Wl Gl @R afislal stausll ane [l
Rl ey Wl B, 2 wReun 2zl SERAL sl U s 3ty wiRRe
oueL ¥ U A B, DL el WAL el WOy R0, A Sy i ay il
aflvfl ez Al v uasasdl ov3r ¢ B, Al SR sl 2458l F5d AL HRYIMSL
AR ar3€l A A 2L 281 3@ Azan yrellor Wil v 8, wig, arg, A Wil Baua
At Gtz Heell o112 €1 B, Nl R ST DISLAL BB ALAUAL WHIRHL At ML
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gl a3, N o Al wig, F A 2 2 2aour -t Guott 3w 4w
B, - 4 MLAUL 53R WRAMAL SR WL AR B, Sl ST QRS Wl AWss WAL
U3 Sl Stell e bl | e AL garnl 9fs s a5k,

1.  Explain the dynamics of losing 'proletarian individual character' with reference
to the above extract.

GURASL AAARQUAL 20500 ‘ARt AR @aell’’ <2 il NUgL WHMaL.,
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How does a workman's cost of production gets restricted due to monotony and

mechanisation?

Tl DA DsBral 2 wiBs QB As #wRsd, Cous e Wl 58 S ?

3. Explain the statement 'human labour is market commodity’. W.r.t. the extract.
VAL DUAARGLL Lot 2060R €A 3 N ool dze, 877 L [t 2ol



4. What is relationship between increase in the division of labour and increase in
burden of toil ? '

srfourrsdll 4fs el s8Rariu cureeil adl afs 423 3 ol B 9

5.  What does the author advocate in the passage.

VL WAARREAL QWS 3, QUL HISL D ?
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SECTION - II

Note : Answer the following Questions in 30 words each. Attempt ALL questions
(6 -20) [Marks: 5 x 15 = 75]

Al D3l £35 UBUAL WAL 30 ACELHL L. LU WSUAL YU, 200, (§ - R©)

6. What is Goffman's dramaturgical perspective ?
gl w2 bu eRsloL 4 S ¢

7.  What is neo-functionalism ?
Ad-SLAlenss 34 S ?
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8. How does Foucault define power ?
£SU9L il Sl A qruaong 530S 2

9. What is the meaning given to agency by Giddens ?
Brseat gize Aoyl 3 2ol 2uHL BulL S ?
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10. Explain Althuser's notion of dominant class.
UYL NOU]AAL v UHMEL

11. State the six basic tenets of Ghurye's definition of caste ?
e b - -
gD UAEL sl vt © e sl zaldl,

Sociology-III 9 [P.T.O.]



12. What are the characteristics of caste as defined by Dr. B.R. Ambedkar ?
ST oll 2R, AIBSSR GRL AvA005 SAGL suldaaL sl 3 S ?

13. What is sanskritisation ?
wrglasaoL ved 3 ?
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14. What are the basic features of pluralism?
s (AL o Qe 3 B ¢

15. Why is secularism important for our society ?
BLUQLL AU HE WA 20 W Hgradd)l S
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16. Do slums cause ecological degradation ?

3, WRERADS wsdl W2 AUl sRQUSA S ?

17. Define globalisation
Alalbsreln cuvaseg $3L
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23.

25.

22.

23.

24.

25.

Examine the impact of education on social stratification.
AT S 2aRAAL W2 RDariell 2020wl

Explain the terms conciliation, adjudication and arbitration.
oiLs (conciliation) ; ¥HEL (adjudication) A ‘@ats’ Aslar vl 2umMAL

Discuss the main limitations of the Industrial Policy Statement of 1992.
el 2NABL D (il o walz @i 2l s2L.

OR =ana1
ELECTIVE-III $asdla -III SOCIOLOGY OF DEVELOPMENT

What is liberal theory of development ?
(sl Geradl Rusia 4 S ¢

Explain Wallerstein's concept of world social system.
QR lSAAL ARs ALY -ARAIAL WRUA WL

Discuss salient aspects of socialist path of development.
(AstirL sl wslan v Wit 23l s34

Explain how culture acts as an aid to development.
‘Rirgld A [@AsrRiAL Ay Wy aly Tdl Ao, SBL SR B’ ANMAL

Has increase in education of women improved the quality of life in society?
wgeuatia Raranil s Sdl Ael ey el peiaaml YRRL @ § ¢

OR 244l

ELECTIVE-IV $&sda -IV POPULATION AND SOCIETY

Explain the Demographic Transition Theory.
ardlfuas dusHeL Rugid (Demographic Transition Theory) dHMAL,
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SECTION -I11

Note : Choose any one elective from Electives I to V and answer all the questions

L

25.

Sociol

(21 - 25) of the same elective in 200 words each. [Marks: 12 x 5 = 60]

[Aseu 2 Wl unil 9 Rseu wRis $3 2 Loy [Aseudl otier ual (R 4L W)«
Lo B35+l Roo ALEL YL L. )

ELECTIVE -1 8asfla -I RURAL SOCIOLOGY

What are the various perspectives to study rural society ?
AR YL HEALR U2 sAUL EL-YEL RS B,

Examine the concept of rural-urban continuum.
SICIN N L DRI N CICTER TR TN TR

Has advances in telecommunication helped in social change in rural India?
3, FRRRURAL WA WU AHL ARDL tuRAAL WRadal Hes $3A S ¢

Explain the main features of the 73rd ammendment of the constitution.
OLRIRRLAL O 3L JURLAL WA QARG AL,

Write a note on any one factor that hampers progress in Indian rural society?
euRelL JUHIGL 0L LA HARW Sl 518 s wRorn Gur Al @il

OR =24l

ELECTIVE-II 8$asdla -II INDUSTRY AND SOCIETY

Discuss Blawner's views on alienation.
(guian (AW oclizal [0l Al s20

What is the informal organisation of industry ?
G, AURS 2oL 3 S D ¢
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20. What is population explosion ?
‘aredl (AR5’ DA 3 ?
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18. What is white collar crime ?
FAAAAL W@ Y ¢

19. Define deviance
(Raaste o8 S3L
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22.

23.

24.

25.

21.

22.

24.

25.

The age structure of a population determines whether a country is developed
or developing. Explain.
‘aelle] aungn e [s@Ra 8 T ([Aslla B assl 53 8.7 wwendl

Write a note on the social factors affecting fertility.
U Al AR L AR S WRoOL GuR s Al @,

Examine migration in terms of "push-pull" and "intervening opportunities”.
UNUARA Y-y A Campiudl ay’ AL REel auRil

Economic and social development are the best forms of population control.
Comment.
2Ly a9 WY s [@sia A azdl [z 3 @ 8, Ryl 2.
OR 2L
ELECTIVE-V 88$dla -V GENDER AND SOCIETY

Explain the salient features of liberalist view of feminism.
alasal GerRafl € RE1gtAL Hua @zl wumal,

What has been the effect of development policies on gender relations ?
AR ieidl G Bsiel Ala2uAl 3 e ud 8 ¢

How has globalization affected women's status ?
AN WAL g3 Jel . AR s S ?

Is patriarchy at the root of gender inequality in India ?
3, oural Rruritcnsal ABLE-RRUAALY, Y S ¢

Write a brief note on social indicators of women status.
LR AU S £28FL 2 AT WRASL BUR A 45 il cvil,
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